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HIGHER SECONDARY 

HALF YEARLY EXAMINATION 2017 
BUSINESS STUDIES 

HSE-XII 

General instructions to candidates: 

Maximum : 80 Scores 

Time: 2½ hrs 

Cool off Time : 15 minutes 

There is a 'Cool off time' of 15 minutes in addition to the writing time of2½ hours. 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read the questions carefully before answering 

Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 

Give equations wherever necessary 
• Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall. 

lil<">...I~@~ ITTl©G(]~6iIDC/3 

mlal~ln'11S CTUl2lClllmTIDlm o.JJ06>12l 15 12llml§ 'cin4u3 630n..O 6>6>So' g26TlsOCD>l©l<66>6o. 

gQ'D CTUl2lCD>o G:.!>..l0B16m3u3 o.J©l.!>..lCDJ6>\'l:JSOffiJo g2mTID©6m3u3 ~CTUll(ID6TDo @.!>..lcgiomJl2lJ§§®06TD. 

g2mTID©6m3CJ3 nfj)'PJCIDJCTnCIDlm 12lJ(l)J G:.!>..l0B16m3CJ3 lC/1l<IDOo.J4©q,jo QJOCDJ1<66>6TDo. 

dn6TDdl6) dn43e..1Jdnu3, .!>..lllCID6m3u3, lCDOn0Jdnu3, nfj)CTnlru g2mTID©G:o.J\'l:J01m8mTID@CTn g26TlsOClll1©1<66>6TDo. 

G:.!>..lOB16m3u3 12le.JCDJO§mTIDle.i6o mm8cinlCD>l36~. 

~QJ(/().) 12lJ~ CTUOe.J(Ol()) CTUl2lQJO dn 16m3CJ3 6>dn0 SJ <66>6TDo 

G:lo.JOLCDOl2lJdnu3 6>.!>..l<:g,lOffiOdnOmTID <fu:)(00<66}JG:e.JgoJdnu3 63'9l6>cinCDJJ~ 630J gQe.JcfuG:lS06TDlcfu g2o.Jdn06TDQJJo o.J©"I 

cthl-:10nDO§lm8 g2o.JG:ClllOCD1<66>0CT8 o.JOSl~. 

Answer the following questions from 1 to 6. 
Each carries 1 score 
1. The process of identifying and grouping 

various activities for the achievement of 
specific goals is called 
a) Planning 
b) Organizing 
c) Controlling 
d) Staffing 

2. Which one of the following is a negative 
process? 
a) Recruitment 
b) Man power planning 
c) Selection 
d) Training 

3. Identify the test which is conducted to 
measure the existing skill of an 
employee. 
a) Aptitude test b) Trade test 
c) Psychological test d) Intelligence test 

1 IDJ ®ml> 6 OJ 6) Cl> <n>J ~ C .!1.1 :J BJ 6lill cJ3 .a&) ~@ml Cl> 6) ID 

'J'J®6.9, 1 cruc.a,:1c3 ru1a»o 

1. Lo.JG:®1m 8.lc!M11o G:ms6on®lm G:ru6flsl, 

Lo.J ruc3 ©ro) m 6Cffi@~ m6>6fls ©ro) 6 ce, CD> 6 o cruo G: @o 

!:21\£Jlc66)6ce,@6o @_,::,_]~;ion Ln.JLml@@06TD. 

a. ~cruJL®6TT)o 

b. cruoneJOSITTo 

C. m1@LCTID6TT)o 

d . ~ G: B .Ji O (J) QJ ro8 c66) © 6TT) o 

2. ®O@~ o.JO @ 6 on ®1cml rulo.J ©"l® Lo.JLm 1@ 

nfil<ID? 

a. olcmJ§@0of 

b. 0om6~lc0, ru1rsruocruJL®6TT)o 

C. ®1©@6YOYIDS;jc66)cml 

d. o.J©l(J()"leJmo 

3. G:@;!OeJ1c66)o© 6@s m1eJru1eJ 6~ @@mn.J6 
6TT) .Ji @ @(j) mTcl ~ c66) 6 on ® 1 m 6 ~ nJ © "l c£M1 

nfil®06TD? 

a) =refl06.!>..ll o.J©"lcem b) @®o<rlmB o.J©"lcem 

c) 0ITT(J()OCTDL® o.J©"lc!M1 d) 6TlJ6rw1 o.J©"lc!M1 
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4. 

5. 

6. 

7. 

Which among the following pairs of 4. 
management function closely related. 
a) Planning and organsing 
b) Planning and directing 
c) Directing and controlling 
d) Planning and controlling 

Name the agency which controls the 5. 
stock exchanges in India. 
Find the odd one. 6. 
a) Call money 
b) Debenture 
c) Commercial paper 
d) Certificate of deposit 
Match the following. Each carries 1 score 7. 
(1 x 4 = 4 score) 

a. Supervision 

b. Motivation 

c. Leadership 

- Showing empathy to 

workers 

Collecting Feedback from 

workers 

- Over seeing the workers 

d. Communication - Encourage the workers 
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(ID:)6)\P @cml§J~ G;~:JCW1cfu~1m8 cfu;JSJ®m8 

CTD:Jl2lJ,12l;\~ 12l:JG5m~6)12lCl'f V>.JLcfu1m>m>16)e.J wal0 

6ITT3<.m n(j3 OJ ? 

a) (ffiQ)CTD;JL®6mOJJo CTDoC>.QJ:JSmru;io 

b) ®g)CTD;JL®6mOJJo 12l:Jale&m1ale;B(R)OJJo 

c) 12l:Jale&m1ale;B(R)ru;io m1m>LCTffi6mru6o 

d) ®g)CTD;JL®6mru6o m1m>LCTffi6mOJJo 

c, ~ :J c06) n(J) c& cnfo -'l...l 6ll!l.116) m ml m> L CTffi1 c66) ;i cm 

gQ CW) J, m>16) eJ n.J (1) G; 12):) cm (ID cru.o:) nJ m O n(j3 cm ? 

c, ru o1 § ml m8 c66) 6 cm cm c0, 6)6Tls cmm 6 c0,. 

a) G5cfu:J<.m 06ml 

b) cfuSn.JL®o 

c) ru:J6m1~J, n.JL®lcfu 

d) mlc,cf)-&jn.J n.JL@lcfu 

G5-'l...l©Jo n.JS1 G5-'l...lalc66)6cfu. 63:JG5©:Jcm1m;io 63©;\ 

CTDG;cfu:Jal ru"l@o ( ®g)6)cfu 4 CTDG;cfu:Jal ). 

a. igQicm]igmJ§o 

b. LnJ(g.!llJBmo 

C. (gffiillljilllJo 

(gITTTO)J6lS 6lnJ@JQiJOJc0, 

- igi?JJJeJ7ffiJ@66lS CITTclrslLnJJ@o 

mJJ @J nJl cf)6) 6 c0, 

- (gi?JJJeJ7ffiJ@66lS LnJOHOITTTOlffio 

ig m J cfl6l 7 cfl6l J 6TD 6 c0, 

d. «rf0«a@rulm7Qi@o - igi?JJJeJ7cfl6lJ6l@ igLnJ@lr!'.17cfl6l68 

Answer the following questions from 8 to 10. 
Each carries 2 scores 

a IIll cmclri> 1 o ru 6)@ wi ~ c: .!>..I :Jo~ 6lITT C/3 c96l ~am»@ 6) III wi 
®lob 2 cruc:.a.:10 ru1cmo 

8. "Placing the right person to the right job 
can bring success to your business." 
Comment. 

8 . " mT<l m ;i c, m> :J ~ J, ru J, c6® 1 c0, u3 c06) m 16ITT3 ~ ;i 6) s 

9. Capital budgeting decision is very 9. 
important because: 
a. It involves huge capital 
b. ? 
C. ----~? ___ _ 

10. State any two external factors which 10. 
affect dividend decision. 

6ill1 cru1 m ~16) m ru ~ al cmm :J ml cru :J w1 c66) ;i o." 

m16ITT3~J6)S Ln.J®1cfu©6mo n(j)'9J®Jcfu. 

cfuJ,:Jn.J1 gm8 6illCW ~g1oc.i5 @"10612l:Jmo ru~6)(1) 

Ln.J:JW:JmJ,12lJ~®:J6TD, cfu:J©6mo. 

a. g2@1ci5 @"100:Jm> 0;ie.iwm mle;cf)-,'ljn.Jo (ffiQ)OJ 

(R)J,12l:J6TD. 

b. ? 
C. ? 

e.i:J@ru1n.n1® @"1060:Jm6)cmm cruJ:Jw"lm1c66);icm 

n(B 6) ® ffi, 1 e.i;i O (1) ~ 6ill:) nD J, C>.QJ s cfu 6ITT3<.m n(j) \P ;i 

®Jcfu. 

Answer any four questions from 11 to 15. 11 IIll®<lri> 15 Cl.J(i)@Wl~ C:.!>..l:JCJ~6<ITT~lclri> "(j)(i)@m,1010 

Each carries 3 scores 4 ~6marn»lcn ~arn»@6)1I1Wl®l.a.. 3 cruc:.a.:10 ru1cmo 

11. Identify the level of management which 11. ~cm® ®e.J6)CIDIT> c0, "lw@e.iru60:Jm>1 6illmD1~1c66);i 

connects the top executive with 
supervisory staff. List any two functions 
to be performed by them. 

cmcm IZl:JG;m~6)1Zl~16)~ n(B®:l ®e.JIZl:)6TD. g2rual 

6) -'l...l cg; ;i cm 0 ~ Ln.J ru al cmm m 6ITT3 u3 n(j) '9 ;i ® ;i cfu. 
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12. The principle of unity of command and 12. Wl6TTI1g7 @e>n.0 c0:,0e>a3cw n{i)cm ®®JOJ6o 

functional foremanship are contraditory n.0613rfr:16TTim8 G1n.0e>m0e>a3rfr:11~ n{i)cm ®®JOJ6o 

to each other - Comment. n.J©crun.Jm OJ1m6®12lC>6TD. ®iltslLn.JC>Wo n.Jow6c0:,. 

13. Do you think decentralization is 13. 
desirable in all the organizations? Give 
reasons. 

14. The following deviations are noticed in 14. 
an organization. 
1. Postal expense increased by Rs. 20 
2. Total production decreased by 20% 
Whether these two deviations should be 
brought to the notice of top 
management? Why? Explain the concept 
referred here. 

OJ 1 GI cfh l(B "J cfh © 6TTI o n{j) ~JC> rnlO Cl nJ m 6ffi3 u3 c06) 6 o 

®cl rsl c0:, e> 0 J, 12l e> 6lD n© cm GI cm e> cm 6 cm 6 GI 6l1s e> ? 

cfh C) (1) 6TT)6(ffi(R) n{j) \P 6 (ID 6 cfh. 

63©J, ml.OC>n.Jmcmmlm8 (IDC)6}\P n.JOWJ,cm OJJ,®1 

we> m 6Gl3u3 c0:,@ 6l1s cmm 1. 

1. (IDn.JC)<m) -~-fle.iru 20 ©Jn.J OJ0®1~J,-

2. g?@n.JC>Bmo 20% c0:,606mlID6. 

gQ'D ©GITT OJJ,®1we>m6Gl3§J,o g?cm®®eJ 12lC>Glm 

~@0ci;ql@ci;q L(f()®Wl<m> @n.JS6G1cmm6l1s®J,G16l1sC>? 

n4)m»6@cfhe>GITT? gQOJl@s Ln.J®ln.Je>Blc06)6cm 0e>G1m 

~ 6) f2lci;qv (ID (1jl(j)J O OJ 1 OJ(() 1 c06) 6 cfh. 

15. "Capital budgeting decision has long 
term impact on the profitability of 
business." What are the various factors 

15. cfhJ,C>n.JlgmS 6Tllcu'5~glow cm"lm60e>mo ml.OC>n.Jm 

cmml@ci;q B "l 0nQJcfhC> e.i e.i e>rs @cmm CTDJ e> w "l ml c06) 6 cm 

to be considered while taking such a 
decision? 

Answer any Four questions from 16 to 20. 

nQJScful2lC>6TD. gQ'D @"lm60e>m@cmm CTDJC>W"lml 

c06) 6 cm nQJ s c0:, 6Gl3u3 nm@®~ e> o? 

Each carries 4 scores m,le.qo 4 ~69Jam»1m ~@m)(l)6)1l}gJJ@J.a. 4 cruc.a.:10 

aJ"l@o 

16. List out the importance of staffing. 16. 

17. In a garment making unit Mr. Manoj is 17. 
overseeing the work of employees. 
Name the element of directing 
mentioned in this context? Explain why 
his role is important to the organization. 

18. Suggest the measures to overcome the 18. 
barriers of communication in an 
organisation. 

19. 'Controlling is a corrective function 19. 
using various techniques.' Explain any 
four techniques. 

20. Financial planning is an important part 20. 
of overall planning of any business 
enterprises. Explain. 

g? GIB J, C) CJ) OJ m8 c06) (1) 6TT) cmm 1@1 Ln.J C) (DC) m J, 0 OJ 1 (/() 

B "Jcfh Cell c06) 6 cfh. 

63©6 OJm'5L@mlcB0e>6TTI Wl6TTI1glm8 0G1me>~ ®ilOJl 

s@cmm GI~ e> e.il c06) e> m 6@ s Ln.J OJ cB cmm m 6Gl3u3 ml m "l 

cfhl::fl c06) 6 cmJ. 12)C)(D CJ) ml cB GIB(/() cmm1@1 nfil ® nQJS 

c0:, l2l e> 6TD gQ OJ l@s cru l _(}_fl ~1 c06) 6 cm®? rnlO e> nJ m 

cmml m8 ®cl GI~ n.0 cmml@ci;q Ln.J OJ cB cmm mcmml@ci;q 

Ln.JC>WC>ffiJ,o OJ1(f()Bl2lC>c06)6cfh. 

63 m 6 rnlO e> nJ m cmm l@e.i CBlq) (IC) w OJ 1 ml l2l w cmm 1 ml 

swl e.16 6TlsC>cfh 6 cm ® s q;\l6ffi3@§ gQ ~C> ®C>c06) 6 cm 

cmlm6~ OJ\Plcfhu3 mlcBG1~(f()lc06)6cfh. 

m1WLm»6TTio n{j)cm®6 cmlm6cmmm8 msn.Jslwe> 

6TD. gQ®lme>wl .!l.Jle.i ®Lm»6Gl3u3 @n.JGIWe>ml 

c06) 6 cm 6. nfil@ ® ffi> 1 e.16 o me>~ ® L m» 6Gl3u3 OJ 1 (IC) 

B"Jcfh©lc06)6cfh. 

nfil6>®e>m6 6Tlllcrulmq;\ll@o'Aw6o (Blq)CTDJL®6TTI 

cmml@ci;q ofilgOJ6o Ln.JWC>m nQJScful2lC>6TD WmcfhC>©J, 

(Blq)CTDJL@6TTio. OJ1(1()B"Jcfhmlc06)6cfh. 
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Answer any Four questions from 21 to 25. 21 IDl@Ccm 26 ru6lCl>Wl~ C.!>..l:>C1J6lITT~lecm Clfil6l@ilhle.i10 

Each carries 5 score 4 <'>(i)6mam»lm ~aml)(l)6)11)Y,l@lclb 5 (T\)(1:cfb:)@ ru1@o 

21. Febi, general manager of Moon light Ltd. 
is over burdened with the workload. 
She has temporarily distributed some of 
her work to subordinates, 

21. r2l46Tl3 8.11r2l1gcw cfuCTlJITT1W1@8.I g;imomil r2lOCllmg;i 

(1) 0 W 6) n.Q 6llJ1 c06) Cll g;i O 8.11 © 0 © o cfu 4 s 6 CID 8.10 6ffi. 

ml<) OJ c3 CID 6) <ij _,,__fl 8.1 Cll g;i O 8.11 cfu CJ3 CID O mil cfu O 8.11 cfu 

0ow1 c0, "J\i5g;i"IOJmc66)o@ai n43mil,~:::Pc66)6 cm 6. 
a. Identify the technique adopted by 

her? 
b. Is it beneficial to the organisation? 

Justify your answer. 
22. Describe the internal and external 22. 

sources of recruitment. 
23. "A person will move to the higher level 23. 

need only after satisfying the lower level 
need." Do you agree with this statement? 
Explain the need hierarchy theory? 

24. 24. 

Planning Staffing 

a) ccm,ruc3 m:u"lc0,01aj CIDL<Tmo nfilCID06ffi? 

b) gQCID Cf\l.OOn.Jmmm>lm (f)J6fficfu(1)(2)0(ll6ffi0? 

g2©m>©o CTDOWJcfu©1c66)6cfu. 

~<Tm©1cfuOJ6o 6llJOn.D~OJJr2lOW 01Lcfu;!g;@r2l<ij- g20 

ru1s61IDCJ3 ru100B"lc0,0lc66)6c0,. 

CID@CTR CID06)\l' CID§18.IJ~ ~l(f)n.D61IDCJ3 CTDOW1 

ajOmil r2lOLCIDCllr2l g2wc3cm CID§18.16~ ~LmnD61IDu3 

g26T1sOOJJcfuWJ~l- gQ'D Ln.J(Tl)CIDOOJITTCllWOS 

m161IDCJ3 Cllwog;i1c66)6 cm6 CllOJO? ccm,ruoo~ Clll006ID1 

CTD1®0<Tmo ru100B'1c0,0lc66)6c0,. 

? 
( ~CTDllCID6ffio) 

Organising 
( CTDoneJOSITTo) (g2CllB ,1=m3dl6)(()6TDo) 

Directing 

(0oc3r&m1c3m~ooo) 

a) Identify the missing function of 
management? 

b) List out its importance in the 
management. 

a) mmilc0,1w1ai1c66)6cm .!l.J1LCIDmm>1@8.I ru1§6 
Clln.JOW r2lOCllITT~@r2lOR- W©l2l2lo nfilCID. 

b) cru..o o nJ m mm> 1 mil [Q 'D w m l2l2l mm> 1 @ <il 

Ln.JOWOITT~o OJ100Br2l0c66)Jcfu. 

25. Explain any five factors which affect the 25. 
working capital requirement of a 

6llJ1CTD1mq;\)1@<il Ln.JOJ©mm>m r2lJ8.1Wffi6)©m) 

6llJ o w1 c66) 6 cm nm@ CID 09:, 18.16 o ccm, 61IDJ nei s c0, 61ID u3 

business. ru100B"lc0,0lc66)6c0,. 

Answer any two questions from 26 to 28. 26 IDlCIDCcm 2s ru6lCl>Wl~ c.!>..l:>C1J6lITT~lecm Clfil6lCIDllble.i10 

Each carries 8 score 
26. 'The structure of relationship 

deliberately designed by the top 
management to attain the objectives of 
the organisation.' 
a. Name the type of organisation 

stated above. 
b. List out its features. 
c. Distinguish it from the other form 

of organisation. 

2 <'>(i)6mam»lm ~am»Cl>6llDY'lCIDlclb 8 (ruCclb:>0 ru1@o 

26. '8.lcEh'U~o Cllms6cmCID1m6 CllOJGns1 ~cmCIDCID8.I 00Cllm 

~6)r2l0R- Cll6llJOWn.JJ©(11o ©4n.J'1cfu©1aj 6306 CTDoneJ 

SITTO CTDoOJ1WOITTr2l06ffi1CID.' 

a. gQ'D Ln.J(Tl)CIDOOJITTW1mil CTDJ.!l.J1\½::J1aj CTDoneJ 

smo CTDoOJ1womo nfil<ID? 

b. gQCID1@<ij Ln.JCllCID~cfuCIDcfuW n{j)@<Tm~Oo? 

C. gQ'D CTDoneJSITTO©Jn.J6)©m) 0g CTDoneismo 

©Jn.Jmm>lmil m1m'5 CllOJ©CID1©1c66)6cfu. 

27. Explain the steps involved in selection 27. 
process. n.JS1 lcfur2l61IDCJ3 ru100B"lc0,0lc66)6c0,. 

28. Explain the qualities to be possessed by 28. @06 0lc0,aj a:mCIDorulm g2Gnso w1 ail Cllc66)6T1s 

a successful leader. CTDJ©OOJ m 66ID61IDCJ3 ru100B"lc0,07c66)6c0,. 
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Plus Two - Business Studies - Answer key 

Ques Sub 
tion Quest Scoring indicator Score Total 
No No 
1 b )Organizing 1 1 
2 c) Selection 1 1 
3 b )Trade test 
4 ( d)Planning and controlling 
5 SEBI 
6 Debenture 
7 A. Supervision - C) Over seeing the workers 1 

B. Motivation - D) Encourage the workers 1 
C. Leadership -A) Showing empathy to workers 1 4 

D. Communication - B) Collecting Feedback from workers 1 

8 Importance of staffing , any two valid points 2 
9 Importance of Capital budgeting decisions like; 

They affect its earning capacity in the long run 2 
The size of assets, profitability and competitiveness are all affected by 
capital budgeting decisions etc( Any Two) 

10 External factors of dividend decisions -any two points like; 
Legal constraints, Stock market conditions 2 

11 Middle level management, two functions 1+2 3 
12 Complementary to each other- explanations 3 
13 Yes, Importance of decentralization any two points with explanation 1+2 3 
14 No, MBE its brief meaning l+l+l 3 
15 Any three factors affecting capital budgeting decision like Cash flow 3 

of the project, rate ofretum etc l+l+l 
16 Importance of staffing l+l+l+ 4 

1 
17 Supervision and its importance any three points with brief explanation 1+3 4 
18 Measures taken to remove barriers of communication like be a good 4 

listener ,ensure proper feedback etc any four points 
19 Explanation of Any four techniques of controlling from traditional or 4 

modem 
20 Importance of financial planning 4 
21 1 Delegation of authority 1 5 

2 Yes/No, Merits/Demerits of delegation (3 points) 1+3 
22 Internal and external sources ofrecruitrnent (any five) 5 
23 Yes, need hierarchy theory 1+4 5 
24 1 Controlling, 1 5 

2 its importance any four points with explanation 4 
25 Any five factors of working capital management ( explanation) 5 
26 1 Formal organisation 1 8 

2 Four features 4 
3 Differences between formal and informal organisation 3 

27 Steps of selection process with explanation 8 
28 Qualities of a leader any 8 points with explanation 8 
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1 .c.Earthquake 1 score 
2. d. Personal touch 1 score 
3. b. Government 1 score 
4. d. Share 1 score 
5. d. All of them. 1 score 
6. e-commerce/ e-business/ online buying/ any similar term. 1 score 
7. a) B2C b) B2B 2 score 
8. a) Employment b) Profession 2 score 
9. Merits/importance huge capital, foreign collaboration, advanced 2 score 
technology etc. 
10. Business has responsibility to operate within the laws of the country, 2 score 
obeying of rules and laws prevailing in the country. 

A B 
11. a) Warehousing - Hindrance of time 4 score 
b) Transportation - Hindrance of place 
c) Insurance - Hindrance of risk 

d) Advertisement - Hindrance of knowledge 
12. Importance of Environmental protection (3 score) 3 score 
13. Disinvestment (1 score), objectives (2 score) -reducing the huge 3 score 
Amount of public debt and interest burden, transferring commercial risk to 
private Sector, for mobilizing funds etc. 
14. limited resources, unlimited liability, limited managerial skill, limited life 3 score 
of business Concerns etc (any three points) 
15. Justification for existence and growth, long term interest of the firm, 3 score 
maintenance of society, converting problem into opportunities etc (any 
three points) 
16. It is a source of income for business persons, it can be a source of 4 score 
finance for meeting. Expansion of business, it indicates the efficient 
working of business, it builds up the Reputation of a business enterprise 
etc. (Any four) 
17. Warehouses. (1 score), any four functions of warehouses such as 4 score 
consolidation, Breaking the bulk, value added service, price stabilization 
and financing etc. (3 score) 
18. Memorandum of Association, Articles of Association, consent of 4 score 
proposed Directors, Agreement, statutory declaration, payment of fees etc. 



(Any four) 
19. Limited resources, Unlimited liability of Karta, Dominance of Karta, 4 score 
Limited managerial Skills etc (Any four) 
20. Owner - Ensure safety of capital, earn more profit, provide correct 5 score 
information etc.Consumers - Ensure regular supply of better good 
quality products at reasonable Rate, educate consumer about products, 
avoid unfair trade practice etc. Govt. pay correct tax, obey govt. rules, help 
govt. to create more job opportunities etc.(any 5 points 5 score) 
21. helps to concentrate on main business areas, benefits specialization 5 score 
and division of labour, cost reduction, growth through alliance, better 
service etc. (Any five) with explanation 
22. increased resources and capacity, access to new markets and 5 score 
distribution network, access to technology , innovation, low cost of 
production etc. (Any five) with explanation 
23. Selection ofline of business, size of the firm, choice of form of 5 score 
ownership, location of Business, source of finance, plant layout etc. (Any 
five) with explanation 
24. protects the interest of farmers, provide better seeds, fertilizers, 5 score 
machinery etc,Helps to improving the yield and returns to the farmers, 
financial help, help to solvethe problems of farmers etc. (Any five) with 
explanation 
25. Benefits to customers - 24 hours service, it inculcates a sense of 5 score 
financial discipline etc, Benefits to banker - workload of the employees 
reduced, provides competitive advantage to the bank. (Any five) with 
explanation 
26. Departmental Undertaking (1 score), 8 score 
advantages - better control over funds, high degree of public, 
accountability, strict audit and control of public funds,helps to implement 
govt. policiesDemerits - lack of flexibility, lag indecision making, political 
interference etc. 
27. Explain merits - ease of formation and closure, balanced decision 8 score 
making, more funds, sharing of risks, secrecy etc., limitation - unlimited 
liability, possibility of conflicts, Limited resources, lack of continuity, lack 
of public confidence etc. (1 score for each. Point with explanation, points 
only½ score) 
28. Explanation of insurance (2 score), any 5 principles with explanation 6 8 score 
score, points Only ½ score)- utmost good faith , Insurable interest, 
Indemnity, Proximate cause, Subrogation, contribution, mitigation. 




